& 3K B AR

P

?
P 3RAR AT R AT IR € 477

R L o BHATIT AR R b o (o BIAK), BIHA T, 122 R AR M 60 AR R

b — R Ao @ F ER, > A EHEE, TRAERAZ RGN,
OFBREITEZHKEALEGMAFS, B A KA.

PR 2H—HMLA TS, RAKCHLES, ZR oo BHRE SR,
Sk B I, BN GH Vo = B, BB T R B B, 0 R
HEH K.

—skgik: V,, KOO E R E

wikﬁ?%ééfzéﬁ% ®RE

R: R ey F 12

I 39 E =

M: 3888 &
Ebéhiiméﬁ%ﬁﬂ&% — ") i%%ﬁé’a%@z”ﬂb%éﬁkh%ﬁziu L 2

ZFRAPAL =7 F5 ABHSENIBOBHEEREARE, LR

L= Iw, 75:“%, H%él]#%f:’fié%d%,l—_aﬁ%:

L1, w= /T(t)dt _ h/f(t)dt — WMV,
e

1. BARKYEH AN B FR O MBS AL BHEZT AL, (Y
AO)

2. hi4E ?—?x?‘ Eb T RGN B R, o R
SN EEW RN, Blr =7, f =rsinf - f=hf

Y



3. ZEE2RHMARY, B [ f(t)dt, BHEQFILER KB LIBELING
G By MV, %3 R

A Ly, - w = AM Ve, = hMwR = h = Lntt — Lem 45 St B W], 694
L RtEE B BT

r; = Rsinf (K% L&) 25 2] 3 64 26 &k )
dm _ dA (3%, BB R G A ELL)
dA =277 Rd0, . dm = ZLEM 49

4r R?
= [iridm = fo” M3 4o = [ M sin® gdg
=— [ M2R (1 — cos?f)dcos = —M(COSO — 3 cos®0)[7 = 2MR?

2. EFT O KRB E:

i]‘ﬂi FXT, OB R & dI = 2dmr m
f dl = foR 2 dmr? = 3 R 3Mr4dr

R 0 R
= ;f\g o rtdr=2MR?



P bAh = fom = 2R &3 AR BAT AR C S 2ZRR A R

I ARG AR B FEGA Ve, =wR? R MARFS - H S

WA ERNIEk = s=RE, =V, =% =5 — Ry

Ven o Ven




